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1.Which option contains a pair of terms that both are Application Lifecycle Management imperatives 

which improve organizational productivity? 

A. Real-time Traceability and In-context improvement 

B. Lifecycle Collaboration and Continuous Quality 

C. Development Intelligence and Continuous Improvement 

D. Continuous Planning and Full Stack Provisioning 

Answer: B 

 

2.In order to deliver an enhanced customer experience that is differentiated and engaging, DevOps can 

help a business do which critical task? 

A. accelerate key feature innovation 

B. obtain and respond to customer feedback 

C. increase the security of the customer experience 

D. optimize the performance of the client interface 

Answer: B 

 

3.What are three key products under the Monitor and Optimize entry point of DevOps? 

A. Tealeaf 

B. IBM Digital Analytics 

C. Rational Focal Point 

D. SmartCloud Control Desk 

Answer: A,B,D 

 


